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Use the following to review for you test. Wo
p Problem |
What you need Things to Broblom J
to know & be b
able to do remem.aer 50,55, 60,58, 62, 57, 68. 51, 63
PV = 1. 36,39, 58, 42, 106, 39, 48, 45 | 2. 50, 55,
| ' 22
Identify the * Mean : g
Measures of central |« Median Medi an 49, = mQA\CU\ 5
tendency. * Mode
Mode B9 mode. none
3. (Usethe same #sfrom 1) | 4. (Use the same #s from 2)
TR E;n— e _Ql_:-aq S s Mgl >~ @\:53 |
. Q3 Q5= QBé}QaS
: . IQR TrQ&k=9.,5
Identify the v TaR= - s )
measures of spread. ] ] : M = 5D
o l.levlaxmum m‘!\; Ko Mox = 4?8
.| * Range i
o MAD _E\f\a&X'_l% Rang2 = I
. =4 47
(D= 15,19 mep= 4.4
5. Using the dataq from #1 & 3, construct a box and whisker plot.
* First dot: Min - 3.5 /
¢ First Line: Q1 ?o‘ﬂ 23 : 100
¢ Middle Line: iy "
, median %HHHHHHH{..r—,
Construct a box- e Third Line: Q3 D
and-whisker plot. ¢ Last dot: Max {D 90 20 lIO 50 to 70 3 90 / 0
: é. Are there any outliers? Show your workl
2 o 32+ 1s5a=1Y —s ¥eS, 10l ;s anoutlie)-
3+ 1.5( o
I LS0eR] L5028 5
3 - | 7. Practicing Free Throws vs, ]8. Colors of the Sky vs. Time of
. ":05”"’93 Both Free Throw Percentage Day
items are . - :
increasing/decre ¥ ostive Corvel Ctho" - N0 Correlah On
termine if th g . : - -
uationhos a° |* plegaiive: one No (avsation No Qaus ation
o : ltem increases as
Jsitive, negative, .
. 1
no cormelation d?cggfés ?. Weight vs. Amount of 10. Number of Foilowem
d if there is _— Exercise vs. Number of Friengs on
H . * No Correlation: L ‘ . F :
RS G No relationship N Qﬁa:k’\\/& CDYY e\aibn aceboo -
* Causation: One No Correl Gj‘fDr)
item causes the o é
other. Cavsedion No Covsation
?\\J
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ind the line of best
f.

e S P
L ] y =Qx + b

* I'= correlation
Coefficient {jf
close to 0 bag fit;
if close to 1 or -]
good fit,)

ind the
Xponential
egression model.

then good fit.)

4.2]1 - Algebra Test Review

e D S T
11. Determine the line of

best fit. Is this model a good fit for the

data?
Price 400 | 5.50 | 3.50 | 8.00 | 5.50 | 7.00
# of Sandwiches 68 55 85 22 64 28
g
V= ~13,73% 4+ 13048 ="0.90, b

Sau
sd £t

° y = c(b]x

e I = cormelation
coefficient (if
close to 0 bad fit;
if close o 1 or -1

good fit for the data?
Year 0 2 4 7
Revenue 3 4 11 25

12. Determine the exponential regression model. Is this model @ &

)/:;2‘(08([.3@)( (=018 Vs, & 600g

Sy

Consiruct a
orobability table.

¢ Joint Probability:
Individual!
Cell/Table Total

e Marginal
Probability: Row
or Column Total/
Table Total

¢ Conditional
Probability:
Individual
Cell/Row or
Column Total

Complete the table to answer the following questions.

Football Basketball Soccer
Males 48 35 17 10D
Females 22 38 40 0O
10 3 7] 200

soccer?

are male?

= 9%

13. What is the probability that a randomly chosen female likes

eo= 1409

14. What is the pro-g bility ‘fho’r someone likes basketball?
. 37%

15. Given that a person likes football, what is the probability they
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